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FENEALIRTE : 4FED (B VNE)  « BHEAVS (S VVE) FIRI : %0 548 7H27H ()
ZNEL it} GROSS HDCP NET ==
AR HZ 44 44 8.4 35.6
ek F 37 37 ) 35. 8
F BE— 42 42 6.0 36.0
AiEg FiT 42 42 6.0 36.0
HE B 46 46 9.6 36. 4
%@ atn 40 40 3.6 36.4
T hDy K i 40 40 3.6 36. 4
&% | AR BB 39 39 2.4 36. 6
9 40| B/NEE maal 43 43 6.0 37.0
10 L;iéf R & 43 43 6.0 37.0
MIFTIL FEA 42 42 4.8 37.2
12 7L | fBIR IE% 42 42 4,8 37. 2
13 {iz | Bl & 42 42 4.8 37.2
14 i | HL & 65 65 27.6 37.4
_@ A B 41 41 3.6 37.4
16 i | \i% xB 41 41 3.6 37.4
17 fif | ¥4+ £75] 4] 41 3.6 37.4
18 fir | #pbk RE 46 416 8.4 37.6
19 {if | 3kH B 46 46 8.4 37.6
ig M B 46 46 8. 4 37.6
21 e )ilE Fngs 46 46 8.4 37.6
=k FEA 39 39 1.2 37. 8
2 EE B— 50 50 12.0 38.0
24 {if | AP K 49 49 10. 8 38.2
KE EH 43 43 4.8 38.2
26 {r | 1Bl =— 36 36 -2.4 38.4 | BG
27 fif | R L 48 48 9.6 38.4
28 fir | R & 42 42 3.6 38.4
29 fir | (hE BBA 48 48 9.6 38. 4
{ A kB 47 47 8.4 38.6
31 fif | & IERE 47 47 8.4 38.6
32 47 | bdis Br=Ep 40 40 1.2 38. 8
@3 Q\ ki ¥ 51 51 12.0 39.0
34 L | 1)1 e 51 51 12.0 39.0
@5 fr | )\ Fi 50 50 10. 8 39.2
36 fir |[ME #IE 44 44 4.8 39. 2
37 i | PR #k 44 44 4.8 39.2
38 fir | TiE BE—FR 50 50 10. 8 39.2
39 i | ikt = 43 43 3.6 39. 4
a0 0| Tl {hT 54 54 14. 4 39.6
417 | IR B E 48 48 8.4 39.6
42 {v |+ X5 48 48 8.4 39. 6
43 { | R £+ 42 42 2.4 39.6
A4 o) ke FE 47 47 7.2 39.8
15 (D RHE & 47 47 T. 2 39.8
46 fir | \3F HRiE 46 46 6.0 40.0
47 {f | ShE AT 44 44 3.6 40.4
48 {if | B B 49 49 8.4 40. 6
49 {7 |BuH 7% 43 43 2.4 40. 6
0 fin| B9 Y17 52 52 10.8 41.2
51 i | &4 #E5 19 49 T2 41,8
52 ff | H F EF 52 52 9.6 42,4
53 fif | &8 =& 51 51 8.4 42.6
54 {7 | H T 52 52 8. 4 43.6
B L B— 45 45 1.2 43.8
tﬂ'ﬁ EL B 53 53 8.4 446
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FUMEACERTE : 45l (BVIE)  « BHEAYF 4 (U &V E) EORI : £F0 545 7H27R (k)
NE{T SINE4 B GROSS HDCP NET IS
 E B aA R 37 37 2.4 34.6
WEPERS | Il TE— 47 47 12.0 35.0
G {D| TH &= 41 41 4.8 36. 2
AL BE EE 41 41 4.8 36. 2
(5 Lo g = 41 41 4.8 36. 2
C LD BE 45 45 8. 4 36. 6
_Q% fEx K Ef 39 39 2.4 36.6
XN 35 45 45 8.4 36. 6
/9 hr) A B 44 44 7.2 36. 8
a0 fin| &F FE—8R 43 43 6.0 37.0
A1 D texk Ex 43 43 6.0 37.0
12 77 [fEx K #k 42 42 4.8 37.2
13 {ir [ #E)1] Fozk 42 42 4.8 37.2
14 {if | FF ¢ 36 36 -1.2 7.2 IBG
15 iz | /MR B 48 48 10.8 37.2
16 {7 | FE &R 41 41 3.6 37.4
17 I | BEE 8K 46 46 8.4 37.6
18 fir | XA e 52 52 14. 4 37.6
19 fif | Al e 46 46 8.4 37.6
20 fin| EHE & 46 46 8.4 37.6
21 {if | FnH & 40 40 2.4 37.6
N HEN —7F 46 46 8.4 37.6
2317 | Rl B— 40 40 2.4 37.6
24 {ir | Mgk —F 39 39 (i 37.8
25 {in| AR B 51 51 13.2 37.8
26 L |#EAK HE 44 44 6.0 38,0
27 {7 | &4 {EAI 44 44 6.0 38.0
28 {iI |0 EHEF 50 50 12.0 38.0
29 L | Y &K 43 43 4.8 38. 2
éo;ga alE B 43 43 4.8 38.2
31 oL | /i filiE 48 48 9.6 38.4
32 i | B FAI 42 42 3.6 38.4
3 o0 = F B— 42 42 3.6 38. 4
3L | E AR B 47 47 8.4 38. 6
85 1y | R B 47 47 8.4 38.6
36 L | bkt & 46 46 7.2 38.8
37 i | FIEAR B 40 40 1.2 38.8
38 iz |k 2 39 39 0.0 39.0
39 fir | N RE 45 45 6.0 39.0
10 _{vi | SR g 45 45 6.0 39.0
41 fir | K#E &5 44 44 4.8 39. 2
42 {r | Frh FEK 44 44 4.8 39. 2
43 iz | #TH BT 49 49 9.6 39. 4
Zik ER 43 43 3.6 39. 4
Al HEE 49 49 9.6 39.4
46 {ir | fAlE BX— 54 54 14. 4 39.6
47 L | TRE SERE 42 42 2.4 39. 6
48 I | FER, 42 42 2.4 39.6
49 L B0 FB 41 41 1.2 39.8
50 fin| T3E = 45 45 4.8 40. 2
S5I°TL | IRA ANE 45 45 4.8 40. 2
52 {if |2 A TF{= 51 51 10. 8 40. 2
53 ff | = & =P 50 50 9.6 40. 4
54 {ir | FH F=AE 47 47 6.0 41.0
55 (D] HEFY Vi 50 50 8. 4 11.6
B B HAH B 50 50 8.4 41.6
B M| KR s 53 53 9.6 43.4




